B RAFRRELTARFE A H3F w54

8 BN AR

EAEEE

*‘4‘%5«%\100 c FEEEDL0E B2 4 -
HELEEREREEL ) FRIA T4 -

. *ﬁ%ﬁkﬁé B4 R o o

RBEMAEE -4 o

g In \x

2
E,éeux 4x+2= u+ Y ME1E -3 H

(x-1F  x-1 (x-1) (x 1)3 )

L% w=2? (4) -2 (B)-1 (C)o (D)1

L £ v=2{4)-2 (B)-1 (€)oo (D)1

3.2 u=? (4) -2 (B) -1 (C)o (D)

1 u v
24 = + &4 -HHA
-1 x-1 x+1 =

1% u=? (A)—% (B) 0 (c)% (D)1

5. % v=? (A)_% (B) 0 (c)% (D)1

6. THMTH HR?

(A)%=15° (B) sin%:% (C)sin%:% (D)COS% %
TEMAEEWAREX » FTHMTHEL?

(4) sin2x=2cos’ x~1 (B) sin2x=2cos’ x+1

(C)sin2x =2sinx-cosx (D)sin2x =sinx-cosx

#F1RA-X5 R



2

2 sina+sinﬁ=25in[a;ﬁJcos[a_ﬁ] » |]&E 8 - 10 &

8. 22sin 75 cosl5 =sina+sinfB > Ha>p > £ a=?

(4)45~ (B)60" (C)75° (D)9U

9. #2sin75 cosl5 =sing+sinf > Ba>pB: £ f=2

(4)45" (B)60" (C)75" (D)90°

10.

X

%‘2sin75°00515°:_2., £ ox=9

(A)V3-2 (B)V3-1 (C)V3+1 (D)\B3+2

11.

12.

13.

14.

15.

16.

17.

18.

19.

2

B 4n cosa—cosﬁ:—2sin(a;ﬁjsin(aﬁﬂ)  BE 11 - 12 4

sin%sin%=§ & x=2(4)1-+3 (B)4 (C)3+2 (D)V3-1

cos%—-cosi—:x £ x=? (4)-2 (B)1 (C)2 (D)2

cos%% ® x=? (A0 (B)1 (O)V3 (D)2
sin§=—;— % x=2 (40 B)1 (©)2 (D)V2
tanfézg £ x=2 (V3 (B)1 (C©)3 (D)2
cot%=§ % x=? (V3 (B)1 (C)3 (D)2

tan—z—;—r—:x % x=2 (A3 (B)l (C)=v3 (D)2
fx)=x"+2x+3 Bt x—1 £%#=2(4)0 (B)-6 (C)-4 (D)6

f)=x+3x-2 Bt x+1 k&#=2 (40 (B)-6 (C)-4 (D)6

#2RA XD E



20. f(x)=3x-2 g(x)=3x-2 & flg))=2(40 B)1 (O-2 (D)3

21. f(x)=3x-2 % fllog,(1))=2? (4o (B)1 (C)-2 (D)3

2. g(x)=3x>-2 & log,(e)=2 (4)0 (B)1 (C)-2 (D)3
23. 24m x*—x—6=(x—a)x+b) B a,b>0% a:?(A); (B)2 (O3 (D4

24. B X —x—6=(x—alx+b) & ab>0% b=2(41 (B2 (O3 (D)4

25, emBAMFREXSE £ —dxty 2y+4=0 XE. =7
(4)(2) B)(-21) (€)-L2) D)21)

2. BB FRERS P—dty 2p+4=0 K¥E=2(41 (B2 (O3 (D4

27 B ABMEREXS 3x+y=5 £#E =2 (4-1 (B)1 (C)-3 (D)3
28 e AMETEXS 2x=y+5 K84 =2 (41 (B)-1 (C)2 (D)-2
20. Bam AN FEXS 2y=4x-T £#%& =2 (41 (B)2 (C)3 (D)4

1 1

30, ARG FTERS 3x-6y=5 k4% =2(4)1 (B)-1 (C)E (D)——E

3. esid@mR (1,2) (B4)ziskwsts at+tby=1 fa=?

(41 (B)2 (€)-1 (D)-2
32. esddme(l,2) (G4)zagwiEXs ac+by=1 £b="7

(41 (B)2 (€)-1 (D)-2

F3A #5537



33, emadmn(30) (04)zismnrris a+by=1 %a=?
1 1 1
A)1 (B)= (€)= (D)-
W1 (), ©; O
34. emindmes(3,0) (04)zakkwrfEts ax+by=1 £b=7

U @ ©F @)

et® U=(1,-2), V=02,1) W=(-1,-2) Y=(-21) »&3
F-40 AT HER
3. R W+V =2 (41,1 (B) (-3,1) (€)(1,-1) (D)(,-3)

36. £ U-V=2(4){1,-3) (B)(-31) (C)3,-1) (D){-1,-3)
37. & 2W +V =2 (4)(3,0) (B) (-3,0) (C) (3,1) (D){0,-3)
38. & U-2V =2 (4)(3,-4) (B) (-3,4) (C)(-3,~-4) (D) (3,4)
39. & 2Y V=2 (4)(6,-1) (B) (-6,1) (C) (-6,~1) (D) (1,-6)

20. & U+2Y=2 (4)(3,0) (B) (-3,0) (C) (3,1) (D) (0,-3)

1. een(l,—1) 8% 4x-3y=5 QERA % £x=?
(4)4 (B)5 (C)3 (D)2

2. es(2,1)Bl A% 3x—4y=5 thEas % £x=?

(44 (8)3 (0)2 (D)1

43, ezt (1,1) BIESH —5=4y-3x ehmih -’55 Kx=?

(4)6 (B)7 (C)5 (D)4

F4R-HXSE



44, FHIM—BFRXGELHE

(A)x2+y2——x—2ym0 (B)xz—yz—x+2y:O (C)y’-x-2y=0 (D)-—x+2y=0
45. FHAM—AFRIAGELLHEHE

(A)x*+y*—x-2y=0 (B)x’ -y —x+2y=0 (€)y*-x-2y=0 (D)-x+2y=0
46. FF)H—EF A2 R0 B AWk

(M) x>+ —x=2y=0 (B)x*—y"~x+2y=0 {C)y*-x-2y=0 (D)-x+2y=0
47. T —AF RGBT A L&

(A) x>+ —x-2y=0 (B)x*—y'—x+2y=0 (C)y*-x—2y=0 (D)-x+2y=0

48. T 3| —A8 5 A2 X 04 B Y A

(A) x> +3y* —x+2y=0 (B)x’—4y*-x=0 (C)y*-2x+2y=0 (D)-3x+2p=0

19, y=x-2xR y=4x—X"ARIB  AEMIBZ x BIRAT
(4)3 (B)2 (C)1 (D)o
50. y=x2—2x;£ y:4x_xzﬁyﬁ§¥;a;;g¢alj§ggzy R R BT

)3 (B)2 (N (D)o



